
D112 BCOMD102

B.COM. FIRST YEAR EXAMINATION, 2013
(Correspondence Course)

PAPER -II : FINANCIAL ACCOUNTING

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

à.1. g§{já {Q>ßn{U`m§ {b{IE: /Write short notes on: .

(A) gm_mÝ`V`m ñdrH¥$V boIm§H$Z {gÕmÝV/
Generally Accepted Accounting Principles

(~) Mmby ì`dgm` gå~ÝYr AdYmaUm/The Going Concern Concept

AWdm /  OR

{ZåZ{c{IV gyMZmAm| go 31 {Xgå~a H$mo g_má hmoZo dmbo df© Ho$ {bE ì`mnma ImVm Ed§
bm^-hm{Z ImVm V¡`ma H$s{OE-
Prepare Trading Account, Profit and Loss Account for the year ending on 31st

December, 2012, from the following informations:
Dr./Cr. Rs. Dr./Cr. Rs.
Opening Stock 34,000 Bad debts Provision 3,000
Purchase 3,70,000 Stable Expenses 5000
Sales 5,50,000 B/P 12,000
Selling Expenses 30,000 Bank Loan 20,000
Capital 2,50,000 B/R 18,000
Creditors 60,000 Cartage & Horse 7,000
Return inwards 4,000 Fire insurance Prem. 2,000
Fuel & Power Factory 16,000 Return outward 2,000
Salaries & Wages 47,000 Debtors 87,000
Interest on Bank Loan 2,000 Machinery 1,00,000
Commission Received 3,000 Building 1,40,000

Bad-debts 2,000
Drawings 30,000
Cash in hand 6,000

AÝ` gyMZmE§  AÝ` gyMZmE§  AÝ` gyMZmE§  AÝ` gyMZmE§  AÝ` gyMZmE§  /Other informations:

1.  31 {Xgå~a 2012 H$mo ñQ>m°H$ 49400 én ò WmŸ&/On 31st December, 2012 the

stock was Rs. 49,400.

2.  A{¾ ~r_m àr{_`_ nyd©XÎm 500 én`o, ~¢H$ F$U na ~H$m`m ã`mO 400 én`o Ed§
Cnm{O©V H$_reZ 1000 én`o h¡Ÿ& / Prepaid fire insurance premium Rs.

(i) d`-i`-m-@P.T.O.(iv)

AWdm /  OR

Am`-ì`` ImVo go Amn Š`m g_PVo h¢? ̀ h àm{á Ed§ ̂ wJVmZ ImVo go {H$g àH$ma {^Þ
h¡?/What do you understand by Income and Expenditure Account? How is it

different from receipts and payments account?

à. 5. {ZåZ{b{IV gyMZm go n[aUm_r hm{Z Ho$ Xmdo H$s am{e kmV H$s{OE / From the

following information, ascertain consequential loss claim:

(i) {dÎmr` df© 31 _mM© H$mo g_má hmoVm h¡ {OgH$s {~H«$s 400000 é./Financial

year ends on 31st March with sales of Rs. 400000..

(ii) AmJ H$s {V{W AmJm_r 1 {gVå~aŸ&/Date of fire 1st September following.

(iii) ì`dYmZ H$s Ad{Y 1 {gVå~a go 1 \$adar VH$Ÿ&/Date of interruption: 1st

September to 1st Faburary.

(iv) j{Vny{V© Ad{Y 6 _mh$Ÿ&/Indeminity period : 6 months.

(v) ewÕ bm^ 24000 é., ~r{_V ñWm`r ì`` 4800 é., gH$b bm^ r Xa 18%/
Net profit Rs. 24000 plus insured standing charges Rs. 48000, Rate of
gross profit 18%.

(vi) A~r{_V ñWm`r ì`` 4000 é.Ÿ&/Uninsured standing charges Rs. 4000.

(vii) ~r_m H$am`r J`r am{e72600 é.Ÿ&/Sum insured 72600.

(viii) AmJ bJZo go nyd© df© H$s1 {gVå~a go 1 \$adar VH$ H$s {~H«$s 150000 é.&/
Standard turnover i.e. for corresponding months (1 September to 1
February) in the year preceding the fire Rs. 150000.

(ix) ì`dYmZ H$s Ad{Y _| {~H«$s 45000 é.Ÿ&/Turnover in the period of

interruption Rs. 45000.

(x) H$m`©erb bmJV _| d¥{Õ 8000 é. {OgHo$ H$maU ~r{_V ñWm`r ì``m| _| 3000 é.
H$s ~MV hþB©Ÿ&/Increase in the cost of working Rs. 8000 with a saving of

insured standing charges Rs. 3000.

(xi) AmJ bJZo go nyd© Ho$ 12 _mh H$s dm{f©H$ {~H«$s 440000 é.&/Annual Turnover

(i.e. Twelve months preceding the fire) Rs. 440000.

(xii) H$m`©erb bmJV _| d¥{Õ Ho$ H$maU {~H«$s _| 20000 é. H$s H$_r H$mo amoH$m J`mŸ&/
Reduced turnover avoided through increse in the cost of working Rs. 20000.

(xiii) {d{eîQ> n[apñW{V`m§ dmŠ`m§e gpå_{bV [H$`o J`o: (A) à_mn d dm{f©H$ {~H«$s _|
d¥{Õ, (~) gH$b Am` H$s Xa _| d¥{Õ 2%&/Special circumstances clause

stipulated: (a) Increase in Turnover (standard and annual) 10%, (b)
Increawse in rate of Gross profit 2%.

AWdm /  OR

{d^mJr` boIm§H$Z _| {H$g àH$ma H$s g_ñ`mE§ CËnÞ hmoVr h¡ Am¡a CÝh| H¡$go gwbPm`m OmVm h¡?/ What

types of problems arise in departmental accounting and how are they solved?
ttt



(iii) d`-i`-m-@P.T.O.(ii)

500, Outstanding interest on Bank Loan Rs. 400, and accrued

commission Rs. 1000.

3.  XoZXmam| na Sy~V F$U Ho$ {bE Am`moOZ 5% ~Zm`o aIZm h¡Ÿ&/The provision for

Bad-debts on debtors is to be kept at 5%.

4.  ̂ dZ na 5% dm{f©H$ Ed§ _erZar na 10% dm{f©H$ _yë`-õmg bJmBEŸ&/Charge

depreciation on building at 5% p.a. and on machinery at 10% p.a.

à. 2. ny§OrJV Ed§ Am`JV _Xm| _| ̂ oX H$aZm Š`m| Amdí`H$ h¡? BZ_| ̂ oX H$aZo Ho$ gm_mÝ` {Z`_m|
H$m dU©Z H$s{OEŸ&/Why is it necessary to differentiate between capital and revenue

items? State the general rules to differentiate between these items.

AWdm /  OR

EH$ _wZr_ Zo VbnQ> ~ZmVo g_` 1000 é. H$m AÝVa nm`m, {Ogo CgZo CMÝVr ImVo _|
S>mb {X`mŸ& ~mX _| CgZo {ZåZ{b{IV Aew{Õ`m| H$mo ImoOm/A Book-keeper finds the

difference in the Trial Balance amounting to Rs. 1000 and puts it in the
Suspense Account. Later on the detects the following errors:

(i) a{d go 15000 é. H$m _mb IarXm na§Vw Bgo {dH«$` ~hr _| {bI {X`mŸ& (Purchase

goods from Ravi Rs. 15000 but entered into Sales Book.)

(ii) AéÊm Zo 25000 é. H$m EH$ {~b àmá {H$`m na§Vw Bgo Xo` {~b ~hr _| {bI {X`mŸ&
(Received one bill for Rs. 25000 from Arun but recorded in Bill Payable Book..)

(iii) A{J«_ {X ò J ò {H$am ò Ho$ 3500 é. H$mo AmJo bmZm ̂ yb J òŸ&/(An item of Rs. 3500

relating to prepaid rent account was omitted to be brought forward.)

(iv) H«$` dmngr H$s 2000 é. H$s EH$ _X H$mo JbVr go H«$` nwñVH$ _| {bI {X`m J`mŸ&
(An item of Rs. 2000 in respect of purchase return, had been wrongly

entered in the purchase book.)

(v) AnZr ñdrH¥${V Ho$ ̂ wJVmZ _| {X ò J ò 25000 é. hare Ho$ ImVo _| Zm_ H$a {X ò J òŸ&
(Rs. 25000 paid to Hari against our acceptance were debited to Harish Account.)

(vi) OmZH$s go 2500 é. ao{S>`mo _aå_V VWm 45000 é. ao{S>`mo IarX Ho$ àmá {~b H«$`
nwñVH$ _| 46000 é. Ho$ {bI {X`o J`oŸ& (Bills received from Janaki for

repairs done to radio Rs. 2500 and radio supplied for Rs. 4500 were

entered in the purchase book as Rs. 46000.)

Aew{Õ-gwYma hoVw à{dpîQ>`m§ H$s{OE VWm CMÝVr ImVm ~ZmB`oŸ&
Give rectifying Journal Entries and prepare suspanse A/c.

à. 3 gmPoXmam| H$s ny§Or ImVo H$s n[adV©Zerb {d{Y Am¡a pñWa {d{Y H$mo g_PmB`o VWm BZ_|
A§Va ñnîQ> H$s{OEŸ&/Explain the fixed capital method and fluctuating capital

method of maintaining partner's capital account and distinguish between
the two methods.

AWdm /  OR

E, ~r, Ed§ gr. gmPoXmar _| ì`dgm` H$a aho WoŸ& 31 _mM© 2013 H$mo \$_© H$m {MÆ>m {ZåZ
àH$ma Wm-  / A, B and C were trading in partinership. The firm's Balance

Sheet on 31st March 2013 was as follows:
Balance Sheet as on 31st March, 2013

Liabilities Amount (Rs.) Assets Amount (Rs.)
Creditors 27,000 Cash in hand 11,800
General Reserve 24,000 Debtors 16,000
Bank Loan 10,000 Stock 23,200
Capital A/cs Building 46,000
A         30,000 Goodwill 30,000
B          20,000
C          16,000 66,000

1,27,000 1,27,000

1 Aà¡b 2013 H$mo ~r AdH$me J«hU H$aVm h¡Ÿ& Cg g_` {ZåZ {ZU©` {b`o J`o -
B retires on 1st April, 2013. The following decisions were taken at that time-

(i) ^dZ H$m _yë` 14000 é. go ~T>mZm h¡Ÿ&/The value of building is to be

increased by Rs. 14000.

(ii) XoZXmam| na 5% H$s Xa go g§{X½Y F$Um| Ho$ {bE Am`moOZ H$aZm h¡Ÿ&
Provisions for doubtful debts on debtors is to be made at 5%.

(iii) \$_© »`m{V H$m _yë`m§H$Z 36000 é. na {H$`m J`mŸ& ̀ h ̂ r {ZpíMV {H$`m J`m {H$
~r Ho$ AdH$me J«hU Ho$ níMmV boIm nwñVH$m| _| »`m{V Zht {XIm`r Om`oJrŸ&
The Goodwill of the firm was valued at Rs. 36000. It was also decided

that goodwill will not appear in account books after B's retirement.

(iv) ~r H$mo 10000 é. Vwa§V ̂ wJVmZ Am¡a eof ImVo _| hñVm§V[aV H$a {X`m J`mŸ&
Immediate payment of Rs. 10000 to B and the balance be transferred

to his loan account.

Amdí`H$ OZ©b à{dpîQ>`m§ H$s{OE Ed§ gmPoXmam| Ho$ ny§Or ImVo ~ZmB`oŸ&
Pass necessary journal entries and prepare partner's capital account.

à.4. JmZ©a ~Zm_ _a} {Z`_ Š`m h¡? EH$ gmPoXma Ho$ {Xdm{b`m hmoZo na CgH$s ny§Or ImVo H$s H$_r
H$mo eof gmPoXmam| _| {H$g àH$ma ~m±Q>m OmVm h¡?/ What is Garner Vs. Murray rule?

How are the deficiency of an insolvent partner is distributed amongst

solvent partner?



(i) d`-i`-m-@P.T.O.(ii)

D113 BCOMD103

B.COM. FIRST YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -III : BUSINESS REGULATORY FRAMEWORK

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. Define the term offer and acceptance. Explain the rules regarding

valid acceptance.

àñVmd Ed§ ñdrH¥${V eãXm| H$mo n[a^m{fV H$s{OEŸ& d¡Y ñdrH¥${V Ho$ {Z`_m| H$mo ñnîQ>
H$s{OEŸ&

OR / AWdm

Who is a minor? State briefly the position of a minor with regard to

the contracts entered by him.

Ad`ñH$ ×mam {X`o J`o AZw~§Ym| Ho$ gå~ÝY _| Ad`ñH$ H$s pñW{V H$mo g§jon _|
g_PmB`oŸ&

Q. 2. Discuss the remedies available to an aggrieved party in case of breach

of the contract.

AZw~§Y §̂J H$s Xem _| nr{S>V njH$ma H$mo CnbãY CnMmam| H$s {ddoMZm H$s{OEŸ&

OR / AWdm

Define bailment. Discuss essential elements of a contract of bailment.

{Zjon H$s n[a^mfm Xr{OEŸ& {Zjon AZw~§Y Ho$ Amdí`H$ VÎdm| H$s {ddoMZm H$s{OEŸ&

Q. 3. Define Pleadge. State the rights and duties of the pawnor and pawnee.

"{Jadr" H$s n[a^mfm Xr{OEŸ& {Jadr aIZo dmbo Am¡a {Jadr aI boZo dmbo Ho$ A{YH$ma
Am¡a H$Îm©ì` ~VmBEŸ&

OR / AWdm

Define "contract of sale of goods''. State its essential characteristics.

_mb {dH«$` AZw~§Y H$mo n[a^m{fV H$s{OEŸ& BgHo$ Amdí`H$ bjUm| H$m dU©Z H$s{OEŸ&

Q. 4. Define negotiable instruments. Explain its features.

{d{Z_` gmÜ` {dboI H$mo n[a^m{fV H$s{OEŸ& BgH$s {deofVmE§ g_PmB òŸ&

OR / AWdm

Write a short note on any two of the following

{ZåZ{b{IV _| go {H$Ýht Xmo na g§{já {Q>ßnUr {b{IE:

à{Vkm nÌ / Promissory note

{d{Z_` {~b / Bill of exchange

M¡H$ / Cheque

Q. 5. What is a District Consumer Forum? Describe the procedure adopted

for the redressal of consumer complaints by this forum.

{Obm _§M Š`m h¡? BgHo$ ×mam Cn^moº$m {eH$m`Vm| Ho$ {ZdmaU Ho$ {bE AnZmB© OmZo
dmbr à{H«$`m H$m C„oI H$s{OEŸ&

OR / AWdm

Distinguish between the dissolution of partnership and dissolution

of a firm. State the various modes of dissolution of a firm.

gmPoXmar Ho$ {dKQ>Z Am¡a \$_© Ho$ {dKQ>Z _| A§Va ~VmBEŸ& \$_© Ho$ {dKQ>Z H$s {d{^Þ
{d{Y`m§ ~VbmBEŸ&

ttt



D114 BCOMD104

B.COM. FIRST YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -  IV  : TAX PROCEDURE & PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. Write short note on the following: /

{ZåZ{b{IV na g§{já {Q>ßnUr {b{IE:

(i) Direct Tax/àË`úm H$a

(ii) Indirect Tax/AàË`j H$a

(iii) Progressive Tax/àJ{Verb H$a

(iv) Proportional Tax/AmZwnm{VH$ H$a

OR / AWdm
What do you mean by Taxation? Explain the features and

objectives of Indian Tax System.

H$amYmZ go AmnH$m Š`m Ame` h¡? ^maVr` H$a ì`dñWm H$s à_wI {deofVmAm|
Ed§ CÔoí`m| H$s {ddoMZm H$s{OEŸ&

Q. 2. Define agricultural income. Give examples of income which are

related to land but are not agricultural income.

H¥${f Am` H$s n[a^mfm Xr{OEŸ& Eogr Am`m| Ho$ CXmhaU Xr{OE Omo ^y{_ go
gå~pÝYV h¢ bo{H$Z H¥${f Am` Zht h¢Ÿ&

OR / AWdm
Write short note on the following under Central Sales Tax Act:/

Ho$ÝÐr` {~H«$s H$a A{Y{Z`_ Ho$ A§VJ©V {ZåZ{b{IV na g§{já {Q>ßn{U`m§
{b{IE:

(i) Appropriate State / Cn ẁº$ amÁ`     (ii) Goods /  _mb
(iii) Dealer / ì`mnmar                            (iv) Trun over / {dH«$` am{e

(i) d`-i`-m-@P.T.O.(ii)

Q. 3. How is the taxable turnover is determined for the purpose of

Central Sales Tax? Explain with appropriate illustration.

Ho$ÝÐr` {~H«$s H$a Ho$ CÔoí`m| Ho$ {bE H$a `mo½` {~H«$s am{e H$m {ZYm©aU {H$g
àH$ma {H$`m OmVm h¡? Cn ẁº$ CXmhaU XoVo hþE g_PmB òŸ&

OR / AWdm
Explain the provisions of Central Sales Tax Act; 1956 relating

to registration of dealers.

Ho$ÝÐr` {~H«$s H$a A{Y{Z`_, 1956 Ho$ A§VJ©V ì`mnm[a`m| Ho$ n§Or`Z Ho$
àmdYmZm| H$m dU©Z H$s{OEŸ&

Q. 4. Describe the procedure of assessment of tax under the Central

Sales Tax Act.

A§Vam©Á`r` ì`mnma `m dm{UÁ` Ho$ Xm¡amZ \$m_© gr Ho$ à`moJ H$m dU©Z H$s{OEŸ&

OR / AWdm
What do you mean by point of tax ? On what point of sale a

dealer is assessed for tax under the Rajasthan Value Added

Tax Act. / _mb eãX H$s n[a^mfm Xr{OEŸ& Š`m {ZåZ{b{IV dñVwE± amOñWmZ
_yë` n[ad{Y©V H$a A{Y{Z`_ Ho$ A§VJ©V _mb H$s loUr _| _mZm Om gH$Vm h¡:

(i) Steam/ ^mn                   (ii) Electricity/ {dÚwV

(iii) Old coins/ nwamZo {g o̧$   (iv) News paper waste/ AI~ma H$s aÔr

(v) Goodwill/ »`m{V
Q. 5. How is incidence of tax of a dealer is determined under the

Value Added Tax? Explain.

amOñWmZ _yë` n[ad{Y©V H$a A{Y{Z`_ Ho$ A§VJ©V EH$ ì`mnmar H$m H$a ^ma
{H$g àH$ma {ZYm©[aV {H$`m OmVm h¡? g_PmB òŸ&

OR / AWdm
Explain giving suitable examples how the taxable turnover is

determined under the Rajasthan Value Added Tax Act, 2003.

Cn ẁº$ CXmhaU XoVo hþE ~VbmB ò {H$ amOñWmZ _yë` n[ad{Y©V H$a A{Y{Z`_
2003 Ho$ A§VJ©V H$a `mo½` AmdV© H$m {ZYm©aU {H$g àH$ma {H$`m OmVm h¡?

ttt



D115 BCOMD105

B.COM. FIRST YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -  V  : BUSINESS STATISTICS

TIME : 3.00 HRS. MM : 70

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

Q. 1. Givt the defination of statistical data and clearly describe its functions

and limitations.

g_§H$m| H$s n[a^mfm Xr{OE VWm BgHo$ H$m`m] Ed§ n[agr_mAm| H$m ñnîQ> ê$n go dU©Z
H$s{OEŸ&

Q. 2. Change the following cumulative frequencies into simple frequency:

{ZåZ g§M`r Amd¥{Îm`mo§ H$mo gmYmaU Amd¥{Îm _| n[ad{V©V H$a|:

Marks more than/A§H$ go Á`mXm 70% 60% 50% 40% 30% 20%

No. of Students/N>mÌm| H$s g§»`m 7 18 40 40 63 65

Q. 3. Calculate Mean, Median and Mode from the following figures:

{ZåZ{b{IV g_§H$m| go g_mÝVa _mÜ`, _Ü`H$m VWm ~hþbH$ H$s JUZm H$s{OE-

Mid Value/ _Ü` {~ÝXw 14 1 18 20 22 24 26 28
Frequency / Amd¥{Îm`m§   1 7 10 44 37 29 9 3

Q. 4. Calculate standard deviation and its coeffcient from the following data:

{ZåZ g_§H$m| go  à_mn {dMbZ VWm CZHo$ JwUm§H$ H$s n[aJUZm H$s{OE:

Marks out of 0-2 2-4 4-6 6-8 8-10

No. of Students 2 5 15 7 1

(i) d`-i`-m-@P.T.O.

Q. 5. The following information relate to two destributions state which

distribution is more skewed:

Xmo {dVaUm| go gå~pÝYV {ZåZ gyMZmE§ àñVwV h¢Ÿ& H$m¡Z go {dVaU _| A{YH$ {df_Vm
h¡? ~VmBEŸ&

Distribution-I Distribution-II

Mean /_mÜ` 100 90
Median /_Ü`H$m 95 95

Standard Deviation /à_mn {dMbZ 10 10

Q. 6. Calculate Karl-Pearson's co-effcient of corrolation from the following

data:/{ZåZ{b{IV g_§H$m| go H$mb©{n ©̀gZ H$m ghgå~ÝY JwUm§H$ kmV H$s{OEŸ:

Age of Husbands (Year) 22 26 28 30 31 33 35

Age of Wifes (Year) 18 20 27 28 30 31 32

Q. 7. Explain deflating and splicing giving examples.

Anñ\$s{V Ed§ {eamo~§YZ H$mo CXmhaUm| H$s ghm`Vm go g_PmB òŸ&

Q. 8. From the following data calculate chain base index number:

Year 2006 2007 2008 2009 2010 2011 2012

Price in Rs. 20 24 30 36 54 86.4 129.6

Q. 9. Compute the Trend values by the method of least square from the

following data :

Ý ỳZV_ dJ© {d{Y Ûmam {ZåZ g_§H$m| go CnZ{V _yë`m| H$s JUZm H$s{OE:

Years 2006 2007 2008 2009 2010 2011 2012

Population in Lakhs 605 640 700 770 900 945 1000

Q. 10. Assumed Mean=10, Sum of Product at frequency and devation Efdx

=50, No of items = 10, Calculate Mean

H$pënV _mÜ` = 10, Amd¥{Îm VWm H$pënV _mÜ` go {bE J ò {dMbZm| H$m `moJ = 50

nXm| H$s g§»`m =10, g_mÝVa _mÜ` kmV H$s{OEŸ&   ttt

(ii)



(i) d`-i`-m-@P.T.O.(ii)

D116 BCOMD106

B.COM. FIRST YEAR EXAMINATION, 2013

(Correspondence Course)

PAPER -  VI  : BUSINESS ECONOMICS

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. Explain the Law of Diminishing Marginal Utility. Are there any

exceptions to the Law?

gr_m§V Cn`mo{JVm õmg {Z`_ H$s ì`m»`m H$s{OEŸ& Š`m BgHo$ H$moB© AndmX h¡?

OR / AWdm

What is Elasticity of Demand? How is it measured?

_m§J H$s bmoM {H$go H$hVo h¢? Bgo H¡$go _mnm OmVm h¡?

Q. 2. Explain with the help of a diagram the Law of Diminishing Returns.

Give its limitations also..

aoIm{MÌ H$s ghm`Vm go CËn{Îm õmg {Z`_ H$mo g_PmB òŸ& Bg {Z`_ H$s gr_mE±

^r ~VmBEŸ&

OR / AWdm

Critically examine the Malthusian Theory of Population.

_mëWg Ho$ OZg§»`m {gÕmÝV H$s AmbmoMZmË_H$ g_rjm H$s{OEŸ&

Q. 3. What is meant by pure competition? Explain the short run and

long run position of equilibrium of a firm under the market of pure

competition.

nyU© à{V`mo{JVm go Š`m Ame` h¡? nyU© à{V`mo{JVm Ho$ ~mOma _| \$_© Ho$ AënH$mbrZ

Ed§ XrK©H$mbrZ gmå` H$s pñW{V`m| H$m {Zê$nU H$s{O òŸ&

OR / AWdm

Define Monopoly. How is monopoly price and output determined?

EH$m{YH$ma H$mo n[a^m{fV H$s{O`oŸ& EH$m{YH$mar _yë` Ed§ CËnmXZ H$m {ZYm©aU

H¡$go hmoVm h¡?

Q. 4. Critically Examine the Liquidity Preference Theory of Interest.

ã`mO Ho$ VabVm A{Y_mZ {gÕmÝV H$s AmbmoMZmË_H$ ì`m»`m H$s{O òŸ&

OR / AWdm

Write short notes on the following:

{ZåZ{b{IV na g§{já {Q>ßn{U`m± {bI|:

(i)  Gross National Product /

    gH$b amîQ´>r` CËnmX

(ii)  National Income and Economic Welfare /

     amîQ´>r` Am` Ed§ Am{W©H$ H$ë`mU

Q. 5. "Induction and deduction both are needed for scientific thought,

just as the right and left foot both are needed for proper walking."

Explain it.

""d¡km{ZH$ AZwg§YmZ Ho$ {b ò AmJ_Z VWm {ZJ_Z {d{Y`m| Ho$ AdbmoH$Z H$s R>rH$

Cgr àH$ma Amdí`H$Vm hmoVr h¡, {Og àH$ma MbZo Ho$ {b ò Xm |̀ Am¡a ~m |̀ n¡a

H$sŸ&"" ì`m»`m H$s{O òŸ&

OR / AWdm

Write a short essay on modern theory of rent.

bJmZ Ho$ AmYw{ZH$ {gÕmÝV na EH$ N>moQ>m {Z~ÝY {b{I òŸ&

ttt
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Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. Define the term "Budget" as used in the business. How does it differ

from "Budgeting"? What are the objectives of Budgeting?

ì`dgm` _| à ẁº$ "~OQ>" eãX H$mo n[a^m{fV H$s{OEŸ& `h "~OQ>Z" go {H$g àH$ma
{^Þ h¡? ~OQ>Z Ho$ Š`m CÔoí` h¢?

OR / AWdm
"Budget is an essential tool for managers." Explain this statement

and discuss the qualities of an effective budget."

""~OQ> à~§YH$m| Ho$ {bE EH$ Amdí`H$ CnH$aU h¡Ÿ&"" Bg H$WZ H$mo ñnîQ> H$aVo hþE
EH$ à^mdembr ~OQ> Ho$ JwUm| H$s {ddoMZm H$s{OEŸ&

Q. 2. What is the meaning of "Business Forecasting"? Throw light on its

importance and limitations./""ì`mdgm{`H$ nydm©Zw_mZ"" H$m Š`m AW© h¡? à~§Y
Ho$ {bE nydm©Zw_mZ Ho$ _hÎd Ed§ gr_mAm| na àH$me S>m{b òŸ&

OR / AWdm
Forecast the sales for the year 2014 by "Least Square Method"

{ZåZ {~H«$s g_§H$m| Ho$ AmYma na "Ý ỳZV_ dJ© ar{V" ×mam df© 2014 H$s {~H«$s H$m
nydm©Zw_mZ H$s{OEŸ&

Year/ df© 2009 2010 2011 2012      2013

Sales/{~H«$s (In lac Rs.) 83 92 71 90 100

 Q. 3. What are the objectives of business forecasting? How business

forcasting is different from Budget?

ì`mdgm{`H$ nydm©Zw_mZm| Ho$ CÔoí` Š`m h¡? ì`mdgm{`H$ nydm©Zw_mZ ~OQ> go {H$g
àH$ma {^Þ h¡?

OR / AWdm
(i) d`-i`-m-@P.T.O.(ii)

Discuss the importance of cash budget and explain as to how cash

budget helps in cash planning?

amoH$S> ~OQ> Ho$ _hÎd H$s {ddoMZm H$s{OE VWm g_PmB ò {H$ amoH$S> ~OQ> amoH$S>
{Z`moOZ _| {H$g àH$ma ghm`H$ hmoVm h¡?

Q. 4. Define sales Budget? How is it prepared?

"{dH«$` ~OQ>" H$s n[a^mfm Xr{OEŸ& `h {H$g àH$ma V¡̀ ma {H$`m OmVm h¡?

OR / AWdm
The expenses of forecasted production of 10,000 units in a factory

are as under:/EH$ H$maImZo _| 10,000 BH$mB`m| Ho$ AZw_m{ZV CËnmXZ Ho$ IM}
{ZåZ àH$ma h¢- (Per Unit Rs.)

Material/(gm_J«r) 70

Labour/(l_)$ 25

Variable Overhead/(n[adV©Zerb Cn[aì``) 20
Fixed Overhead (Rs. 1,00,000)/(pñWa Cn[aì``) 10

Variable Expenses (Direct)/(n[adV©Zerb ì``)(àË`j) 5

Selling Expenses(10% fixed)/({dH«$`  IM©) 13

Distribution Expenses (20% Fixed)/([dVaU ì``) 7

Administration Exp./(àemgZ ì``) 5

155
Prepare a budget for production of (i) 800 Units and (ii) 6000 Units.

Administration overheads are fixed for all levels. / (1) 8000 BH$mB`m|
VWm (2) 6,000 BH$mB`m| Ho$ CËnmXZ hoVw ~OQ> ~ZmB òŸ& g^r ñVam| na àemg{ZH$
ì`` pñWa h¢Ÿ&

Q. 5. How is the maximum profitable level of production determind?

Explain./ CËnmXZ Ho$ gdm©{YH$ bm^Xm`H$ ñVa H$m {ZYm©aU {H$g àH$ma {H$`m
OmVm h¡? ì`m»`m H$s{OEŸ&

OR / AWdm
Define production decision. How are used alternative production

facilities./CËnmXZ {ZU©̀ Z H$mo n[a^m{fV H$s{OEŸ& CËnmXZ H$s d¡H$pënH$ gw{dYmAm|
H$m Cn`moJ  H¡$go {H$`m OmVm h¡? ttt


